$500,000 INVESTMENT FOR PRINT SUPPORT SOLUTIONS YEAR 1 YEAR 2 YEAR 3 YEAR 4 YEAR 5

20.28% 40.63% 87.71% 100.91% 116.10%
Calculating Return on Equity (ROE) $101,402 $203,150 $438,569 $504,541 $580,478
NET INCOME $4,056,084.54 $8,125,991.86  $17,542,742.76  $20,181,625.26  $23,219,125.41
Shareholder Equity $4,000,000 $4,000,000 $4,000,000 $4,000,000 $4,000,000

Assume shareholder equity to be $4,000,000 for simplicity
ROE= (Net Income) / (Shareholder Equity)

ROE 1.014021135 2.031497965 4.38568569 5.045406315 5.804781353
Equity Position 0.2 0.2 0.2 0.2 0.2
Investment $500,000 $500,000 $500,000 $500,000 $500,000

Investment Return % = Equity Position x ROE

Investment Return % 20.28% 40.63% 87.71% 100.91% 116.10%

Investment Return = Investment Return % x Investment

Investment Return $101,402 $203,150 $438,569 $504,541 $580,478

Please note that our projections are deliberately conservative, reflecting our cautious approach to forecasting. We prioritize realistic

expectations to ensure sustainable growth and manage potential risks effectively.




